ECEG 497 Wireless System Design Spring 2025
Selected Answers to HW #3

Include explanatory text and intermediate calculations in your solutions. You will not receive

credit for merely repeating an answer given here without supporting work.

If an answer is not provided below, it is either because the solution is trivial or because
disclosure of the answer would give away too much of the solution.

If you suspect that an answer below is incorrect, please let me know as soon as possible.

1. [proof]
2. S11 = 0 (not exactly with the resistor values given, but S is negligibly small);
S21=0.10

3. S,; =0.67.£53°
S,,=0.74/-64°
S, =0.742-64°
S,,=0.67£-0.4°
Load impedance = 250 Q (real)

4. PL =160 mW
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